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“  Answer all questions.
< Select most appropriate answer.

1. Which of‘thﬂ following statements is true?
. Employee’s attendance register is an example for primary data
f. CoE[ectmg data by conducting an employee’s survey is an examp[e for secondary data.
tl.  The order in which questions are asked not influence a respondent’s reply in personal interview method.

V. interpretation of collected and analyzad data is called Inferential Statistics.
V. Sclentific conclusions are accurate than Statistica! conclusions.

2. Which of the following statements is fzlse?
. Statistics does not come to conclusions by studying individual items.
tl.  Education level of respondents is directly influence on telephone conversation method.
. When financially burden, the personal interview method is not suitable.
V. Practically Direct observation method cannot he used in all situations.
V. Selfenumeration method is not suitable whean expecting high response rate.

3. Which of the following statements is true?
L. ata coltected by the surveys which are done under an enumerator is more reliable.
H. Checking the completeness of a questionnaire Is done by editing.
. Removal of incomplete questionnaires is a function of editing.
V. Questionnaire is used to collect data in telephone conversation method.
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ftis easy to get ideas through covert questions.

4. The most appropriate chart to present monthly rainfall for 5 yea
{. Simple bar chart '
. Component bar chart
. Multiple bar chart

rsis,

V.
V.

Graphs
Mode diagrams

5. The most appropriate chart to present how certain product compressed among companies is,
I.  Piechart IV. Pictogram
il.  Lorenze curve V.  Mode diagram
fil.  Zcurve
6. When organizing, the uniqueness of data get affected,
I In data array V. fn ungrouped frequency distribution
il inraw data V. In grouped frequency distribution
M....Instemand leaf diagram. e =
7. The measure which cannot be obtainaed easily by an ogive is,
l.  Mode V. 75" percentile
. Median V. 1™ declies.
. 1" quartile



8, Consider following statemeant
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3. The weights of students in a certain class ate given in the following stem and
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V. “rea of the histogram is not equzl to the co

12. The frequancy distribution with Q3-0,=1/2{0,-0,) Is,
L. Symmetrical
Il.  Positively skewad
L Negatively skewed -
V. Can be positively skewed or negatively skewed
V.  Cannot say exactly

13. Geometric meanof3, 9, 27 is,
. 6 V. 10.12
i, 8.24 Y. 13
(. 9

14, Group A takes ZOd-avs to complete certain task. Group B take: 25 days {0 complete same task. [f both groups
slart to complete this task together on same date, the number of days need to complate that task is,

! 22 . 2275
iR 2222 12 23
[ 225
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15. The average mark of 50 students in a class is 72kg. If the average mark of 35 boys in this cless is 75 kg, the
average marks of girls is,
b &0 Il 65 W, 70
il. bz i, 63

16. The coefficient of variation of & frequency distribution is 20% and variance is 225, the maan af this distribution

is,
l. 1425 V. 80
. 1000 WV, 75

fil. 750

17. If a student obtained standard mark of 1.2 in an examinztion with mean 50 and standard deviation-20; thc—"
marks obtained by the student in that examination is,
[ 04 il 80 v, 90
. 75 V. 84

18. Mean and standard deviation depth of a lake are 8m and 2.5m respectively, When water lavel decreased by
2m due to drought, the new mean and standard deviation depth of that lake are,
I 10m, 2.5m V. 6m, 0.5m
. Bm, 2.5m \. 8m, 0.5m
HIL 10m, 4.5m

-
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. In a moderately skewed distribution with mode 50, median 54 and standard deviation 15, the nearest value
that can be obtained for median is,
L. 58 [l 52 V. 48
.. 50 V. 56

20. Following measures were obtained in a small populztion.
SX=150  $X°=2500  g¢=5
The gize of this populstion is,
[ 5 (. 15 V. 50
i. 10 (v, 25

21. Which of the following statements is false about probability approaches?
l. Under the classical approach the probability of an event can be calculated without performing the
experiment.
. All the persons cannot obtzin same probability value under relative frequency approach.
-l In subjective approach, the probability value depends on degree of belief of a person.
IV. The relative frequency approach assumes the outcomes of an experiment are equally likely.
V. ltis unable to use Relative frequency approach when an experiment cannot be repeated.

22. 'Which of the following cases are not true when A and B are independent events?
. P(A'WB)=P(A").(B") V. P{A/B)=P(A)
. P(A'AB)=P(A").(B/AY) V. P(AuB)= P(A)}+P(B)
. P(AAB)=P{A").(B)

23. If Aand B are two independent events such that P(A)=P(B)=p, The value of P(ALB) is,

. 2p

. 3p
L P
LIV pH2p

V. 2p-p’

[



24. When tossing two fair coins together, probabilit ty that total of values greater than 10 is
L 1/8 HL 1718
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25. There zre 6 skillad - a4 unskilled workers
25. There are 6 skillad workers P U ed worker

rancomly selzct lwo Dn“raluyeef cut of them pi obcb...;y Tl se[-sct:'nf" 'Lv-.fo si

L. 1/2 [il. 174
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27. Ratio of happening and not Happe
event is,
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31. If rendom variable x can take only 1,2,3,4 values, the probabil ity function of that varizhle is,
x—-2 p—1 , x+1
L fix)=—= e fla)i= - L f(x) =22
2 4 4
52. Expacted value of following probabifity distribution is,

X: 4 5 6 8

Plx): 0.1 0.3 0.4 0.2

L - 49 = 5.9
. 3.9 fv. 6.9

33. Xandy are two independent variables with means 50 and 120 respactively and varizn
respectively. If z=4x+3y expected value of z is,
L. 380 560
il 400 160
34. The Parameters of a binomial distribution with mean 12 a stawdard deviation 2 is,

l.  n=15, p=4/5
I n=18§, p=2/3
i n=20, p=3/5
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n=16, p=3/4
n=18g, p=1/3
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35. The prohability of getting success in a hinomial distribution with 6 trizls and 4P(x=4)=P(x=2} is,
Lo 1/2 . 1/3 V. 2/3
o 1/4 . 3/4
35, The mean value of a poisson distribution with 3 P(x=2) = P(x=4) is,
l. 2 (1. 4 V. 8
[l 2 . 6

¥=2) in a poisson distribution with P(x=0)=p{x=1) is,
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.2 . 1/6e V. 1/%e
I, e/b v, 1/e
38. The mean value of x normal distribution is 25.variance is 100. If P(25<x<h)=0.4772, the value of b is,
| 45 - 1. 50 N 65
. 35 v, 55
39. Mean of x normal distribution is ¢t and variance is o*, The valuse of P(x<p+20) is,
l. 0.3413 . 0.4473 4 0.9773
. 0.6827 V.  0.8413

40. [n an examination mean marks of 1000 candidates is 42 and standard deviation is 24. The minimum marks of
100 candidates who obtained highest marks s, .
. .73 1. 79 V. 68

H. .63 V. 65

41. Which of the foliowing statements is false if the value of coefficient of determination is 17
I. Coefficient of correlation is 1
ll. . Perfect correlation is there
. Aregression with discriminant model
V. Qut of total variation 100% belongs to regression.
V.  Linear relationship is there.

42. Equation of regression line is y= 8-0.2x and coefficient of determination is 0.54. Which of the following
statements is true?
& Out of total variation 64% belongs to errors.
fl.  Coefficient of correlation is 0.8
i, Independent variable presents 20% out of dependent variable.
V. Whenxincreases by one unit, y increases by 0.2 units.
Vv, Regression line intercept y axis at {0, -0.2)

43. Coefficient of correlation between annual value of exports and annual number of infant births is 0.9. Which of
'the following conclusions is true?
I.  Thereis no linear relationship between variables.
Il.  There is a perfect positive linear relationship between var:ab[es
N Itis good to fit a regression line for two variables.
v, ' Even though there s a strongly positive relationship between two variables that is a meaningless

"7 correlation.

V. . Therelsa perfect correlation between two variables.

44. If coefficient of correlation is -0.8 the variation expressed by errors out of total var |at|0n is,
L 80% . 64% ' V. 36%
. -80% V.  16%
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& Answer five questions selecting three questions from part  and two questions from part .

PRRT T
1. {a) Explain self enumeration method in collecting primary data. State merits and demerits {04 marks)
{b) What is a pie chart?
Mention two situations where pie chart can be used to present data. {03 marks)

{c) Consider the fallowing distribution
Weights of students (kg):  31-40 4150 51-60 6170 71-80 81-90
Number of students: 8 12 18 22 13 7

Draw a less than ogive and find the number of students whose weight between 55 kg and 75 kg,
(05 marks)
(d) What is Lorenz Curve?
Mention two situations where Lorenze curve can be applied.
Income distribution of a city is as follows.
No. of people Income
320 400
200 600
150 1000
80 1200
40 1800
Draw a Lorenze curve and find percentage of paople who earn maximum 10% income. (08 marks;
2.(a) Explain the role of measures of central tendency, dispersion, skewness, kurtosis. (04 miarks)
(b) Define Simple arithmetic meaan, Geometric mean, Weighted mean and Harmonic mean.
State the situations where each mean can be used practically. {04 marks)

(C) Following are the average marks and standard deviation marks of Economics, Account .ng and Business
Statistics in G.C.E. Advanced level examination and marks obtained by student A.

_ Economics Accounting Business Statistics .
Meai s usici o ARG se 57 MR e e
Standard dev1:=+ton eI 16 - g e R T R R
Marks of student A 72 76 or—=18 ' e
State with the calculations, in which subject was student A relative standing higher? S (05 ma f s}

(d)Following table shows the salaries of two samples of employees in company A and company B.

Manthly Salary No. of employees No. of employees \
in company A in company B :
. 0-20000 = gl ABI . _ 12 ..
.. 20000- 40000 I e AT e e e e e L s
40000-60000 .40 48 .
50000-80000 ) 15 - 10
80000-100000 5 S

. Calculate mean and standard deviation salary of the employees in both companies.
ii. Which company is having high mean salary?
iii. Which company is having high uniformity in salary distribution? (07 marks)

7



{a) What do you mean by an i

! fT o el
zre the advantages of in numibers? {04 marks)

index and Paasche's price ingex?

[c) Following are the prices and guantitiss of three types of commodities in year 2000 and 2010
Commodity 2000 2010

Prica  Quantity Price  Quantity
A 20 5 30 6
B 25 4 40 5
2 50 3 60 2

P FP

Prove by using Laspeyre's price and guantity indices and Pzasche's price and quantity indices
LQ PQ
for vear 2010 by considering year 2000 as basa year {05 marks)
(d) Whatis ccnsun*cr ;3' ice I'“f{ﬂ:{?

&rs and v.-'cigh'i;s of expenditure items in year 2010 ana 2015
Group index numbers in 2010 Group index numbers in 2015 Weights

200 250 60
120 - 18 i5
150 180 10
160 200 5

250 OZ‘ 10

number for vear 2015 a5 comoared with that of 2010. (05 maris)

(2} What do you mean hy regression analysis and correfation. Expl

(c) Promotional expenses and Profit of 2 certain company in rupees million during first 6 months are as
foliows,
Month Promotional expenses Profit
Janvary B 60

Febiuaiy _ g 75
120
90

i. Obtain least squares regression line of profit on promotional expenses.
ii. Find the expacted profit when promotional expenses is Rs. 40 million.
iii. Compute Product movement coefficient of correlation and interpret it.

iv. Compute coefficient of determination. Which decision can you make on it? {08 marks)
() Coefficient of correlation between ranks of two judgers assigred to 10 competitors is 0.8. If the

ank ccmhme nt of correiation.

difference betwesan ranks 5 was recorded as 3, caiculata the correct
: J’Q:" ‘T"-"'KSI
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(a)Explain the importance of probability in business field.

[ e R
{03 marks|

(b} Define cos srobability. Explzain the im wportance cf conditional probhabiiity when meking decisions
in business field using an example. (03 marks)

{c) A doctor recommends a test for Dengue disease for patiznts having high fever. 20 parcent of nzanle
having high fever has possibility of having Dengue e disease. 95 percent of the the cases in which Dengue
disease is present the test reveals the presence o of the disease. In 90 percent of the cases in which the
d:scace is not present the test reveals the absence 0 of the disea

. If a person having high fever face for this test, what isthe prmabil[ty that the test reveals the presence

of the disease? " _ =

ii. If the tast reveals that the Dengue disease is present, what is the probability that the patient is actually

having the disease? {05 marks)

(4) Probabiiit\f of passing Advance level examination by student A is 90%. Probability of passing same
examination by student B is 80%. Find,
i. Probability of passing the examination by both students.
i. Trobabiiity of passing the examination by only student A.
iii. Probability of passing the examination by only one stuaent.

iv. Probability of passing the examination by st rudent A or student

0

(e) A and B are two events such that P(A/B)=2/3, P(B/A)=3/8 and p(a)+P(B)=1, Find the probability of P(A].
{05 marks)

(a}‘#what is a random variable.

Dafine differant random variables and provide two examples for each. (05 marks)

{b) Define the Binomia distribution stating the conditions under which it wiil arise.

There are 10000 units in a stock and 2000 units in that st ock zre defactive. f randomly salact & sample of
10 units, Find the probability of selecting,
i. no any defective item.
i, at least two defective items. {05 marks)

(c) The burning of street lamps In a city has a poisson distribution with speed of burning once in every two
days.
i, Find the probability of burning less than two street famps within 5 days.
ii. Find the probability of burning exactly three street lamps within a week.
fii. Find the probability of burning less than 25 street famps within 10 weeks. (05 marks}

{d)-Life time of a battery foi!owc a norma1 d1str1buf|0n wnh mean 800 hours and standgrd deviation 80
hours. . .

i. Find the probability that randomly selected baftery hdvmg the 11fe time bdtWL a0 750 hours and 850
hours.

ii. Compute, after how many hours 10% of bulbs would burnouf : ' {05 marks)



